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real(8), dimension(3, 5) :: b
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$ ./score2

No. 1

Kamoku 1:

30

Kamoku 2:

60

Kamoku 3:

40

No. 5

Average =



program Score_management
implicit none
integer, parameter :: number =
integer, parameter :: kamoku
integer :: i, j, total
integer,dimension(number, kamoku) :: score
real(8) :: ave
intrinsic dble

I Input score data from keyboard
do i = 1, number
write(*, *) 'No.', i
do j = 1, kamoku
write(*, *) 'Kamoku

.’j.’
read(*, *) score(i, j)
end do
end do




I Calculate total and average
total = ©
do i = 1, number
do j = 1, kamoku
total = total + score(i, j)
end do
end do

ave = dble(total) / dble(number*kamoku)

write(*, *) 'Average ', ave

stop
end program
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program score2
implicit none
integer, parameter :: number

integer, parameter :: kamoku
integer :: i, j, total
integer,dimension(number, kamoku) ::
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program score3
implicit none
integer, parameter :: kamoku = 3
integer :: i, j, total, number
integer, dimension(:,:), allocatable ::

real(8) :: ave
intrinsic dble

I Input number from keyboard
write(*, *) 'Number: '
read(*, *) number

I Set size of array A
allocate(score(number, kamoku))
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$ ./score3

Number:
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No. 1

Kamoku 1:

30
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60

Kamoku 3:

40

No. 4

Average =




= DT FBCHI DRV

. KEZIBTEHET, allocatable ZiENN
dimension(:), allocatable :: EE5IZEE%A

REE (EH) OMODIC @ ZIRTTOEIZIFELR
> ) 3RTDEIDITECHIDES

real(8), dimension(:,:,:), allocatable :: data
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allocate(BEHIZEE(KEZ))
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allocate(data(100, 0:20, -50:50))
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integer, dimension(5) :: a
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integer, parameter :: n =5
integer, dimension(n) :: a
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integer, dimension(:), allocatable ::

..éllocate(a(s))
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a = 0.0Do
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a = (/1.0D0, ©.2D0, -3.5D0, ©.0DO, 12.5D0/)
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a(2:n:2) = (/ (i, i = 1,n,2) /)
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integer, dimension(5) :: a=0Do
real(8), dimension(2, 2) :: b=(/ 1do,0d0,0d0,1do /)
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a(l:2, 1:3) = (/ 1, 2, 3, 4, 5, 6/)
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a(1:2, 1:3) =</ (i, i=1,6) /)
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integer, dimension(2,3) :: a

write(*, *) a
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write(*, *) a(2, : )

write(*, *) score(2:3, 1:2)
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integer, dimension(2,3) :: a

write(*, ?(3I5)°) a
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integer, dimension(b) :: a=({/1,2,3,4,5/)

-5(2:5) = a(l:4)

integer, dimension(b) :: a=(/1,2,3,4,5/)
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integer, dimension(5) :: a=(/1,2,3,4,5/)

a(2:5) = a(1:4)
integer, dimension(5) :: a=(/1,2,3,4,5/)
doi=1, 4
a(i + 1) = a(i)
end do
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$ ./test
Number :
2

No. 1
Kamoku
30
Kamoku
60
Kamoku
40

No. 2
Kamoku
50
Kamoku
30
Kamoku
100

No. 2 1s the top!
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